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For Rav maintains, he is liable for a pit in his domain

OVERVIEW

Initially the &7 mx assumed that the dispute between X1 27 regarding D3P 7PN
"% 1M hinges on the npYorn whether one is liable for a 112 in his domain.'
There i1s a dispute between *"w7 and Moo how the XM wanted to connect these
two (seemingly) separate cases.

mooIn first cites >"w1o:
- 291 “mv%0 omxa hnna APYMN ORY 992 N9 15 3PUNT 9109 799

And therefore (since 1Mw12 M2 is 2°°17) he is MWD in a case of MW PN T¥PN
7"71% and someone’s animal ate from there, because the person who was nxp»
1Mwn and placed his M0 there, is considered as if he dug a pit in his domain
which was (immediately) adjacent to the 7"77, so therefore the rule is that if a

mmna slipped on those m9%p, the owner of the M0 is liable for the damage to the
3 -
- 79909 NYINY N1HN3Y 2090312 YWISDTI B30 MYI NYPN P13 1t BNPN Y3 79y

Therefore whoever comes first and takes these M7 acquires them, as is the
ruling regarding an obstacle in the 2'';19 as >''w1 explained, so the 72772 who ate

these M7’ (which are considered a 1"7772 79pN) is exempt from paying for it, since the
owner of the 772 has the right to take these m17°o for they are a 2"772 7%pn.
- “YNawa 192 19933 192 198 (3,5 9710p%) NN P92 ININT NSNAYVY 29

And 21 follows his ruling which he states in ma»7 P92 regarding a 1"792 79pn,
that anyone may acquire both the principal and the improvement.

Mmoo anticipates a difficulty:
= DOPN NN RDT 010 N9 9V91I TON MININY PN

" This a nponn between *"1 ¥"9 (later on 2,bn) where one dug a M2 in his MwA and then was 9%pon his nwA but was
not 7°pon his 712 (only the 712 remains in his MwA). ¥"7 maintains he is 217 for damages caused by this 713, while >"9
maintains he is Mvo.
2 The N0 which he placed in the '0pn nxpn' are considered a 1Mw2 12 (where he was 1w pon).
7 xh ",
* The mawn there (X,9) states that if one places his straw in the 1"77 so it should become fertilizer (by the people and
animals trampling on it), whoever acquires it for themselves gets to keep it for it is a 1"772 7%pn. 27 rules that he
may keep not only the amount that the straw improved (by becoming fertilizer), but he may even keep the entire
straw (1913 the principal), while >°v1 maintains that he may keep 12w, but not 191, Here too the nnna7 (5¥2) may
keep the (1913) M0 and therefore is not liable for his fin72 eating them.
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And one should be astounded; how is he 92 from the inner n19°p, which are
not an obstacle’ -

mooin replies, this is no difficulty -
- 959 OV PPRYI OV N2YY 05290 MYAY 137 MY VT 1151

For since the people of the 2''717 have permission to walk the entire area of the

01Pn 7X¥pPn when there are no N0 there -
- 19719192 PPN Y3 7959Y B3390 NMIYAY D910 019939 NN 0INWN VIV ) DN

Therefore when the outside n19°® will be removed (which they may be since
they are a 1"7712 172pn), it will turn out that the inner n2°2 will then be close to
the 2''119, therefore whoever takes possession of all of the m7°5 acquires them.

Mmoo anticipates an additional difficulty with this v17:
- N9 QPN T 0YLVN NNVOT HNIN XD NINIY NN NPYYN NANIN TIND PNT XN

And regarding this which we learnt in the mwn, if she ate 72977 79n% (which is a
7"77), she pays what she benefitted; but why did not the miwn state that she is
completely exempt because of the previously mentioned reason that regarding a
1"712 7900 the rule is that ;127 273Pn 95?!

mooIn replies; we must say -
- (3,5 9179 H3NNA YPYNT 19 YDIP NDT NYAYWNY 1D B39 NIV 1IN RIY Y990

The 71wn is discussing a case where he did not place the mM7°0 in the 9''779 in
order to improve them, in which case the rule is that they did not penalize him

that he loses the principal, as it seems in 1°1%77 P79, Therefore the 7272 has no right to
eat the m7°0 (and is N°173w 77 21). This concludes ('01n understanding of) >"w1».

In summation; since 27 maintains MNWI2 72 is 21, so the M7°® which he placed in the nxp»'
'mpn are considered a 7"772 19pn and therefore the rule of 751 072 o7pn 92 applies here.
[However by mannn i the rule of 121 o7pn 95 does not apply since he did not place it there
mawas.]

> Seemingly the only 72pn are the M~'0 on the outside fringe near the 1";17, where animals (or people) can trip over
them; however the n17°5 which are (well) within the perimeter are causing no obstruction (for no one has permission
to go even adjacent to them, since he reserved the right to place his M7’ there), so they should not be considered a
2"772 79pn and the 737277 %2 should be liable for them if his 7272 ate the 210 M.

6 MY 72 a1 27 states there: 101p X7 maw 11 TR 927 7AW 21w 191 0P 1AW 12 W 127. Something which improves
by placing it in the 7"77 (like straw for it becomes fertilizer) they penalized even the principal on account of the
improvement; however something which does not improve (by placing it in the 7"777), they did not penalize 19,
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NN asks:
= $9H2 NIN I N9 99N) INP PPNINNIN 29 NAT Nt WIND by ITAA} 24 99%24Y num

And the >''1 has a difficulty with this explanation; for 29 (when he rules that by
opn 7¥pPn he is WD) is referencing our ;1wn, for he states, ‘it was not taught

that 72n77 7% 7998 is N2»1 only by N9, however by mpn 7pn he is 7Mwo, meaning

that in the case where the m1wn states 72177 77 is 21, by 23pn A¥PA he is MWD -
= HAWNY 19N NIYA 29N 1) 249 19 ON)

So therefore 29 (by 01pn 7¥pn) is also discussing a case where he did not place it

in the 1"777 to improve (just like 7ar77 >7%).” If it was not placed m*awi> the rule of 7P 2
121 does not apply, so why is he 715?!

mooIn has an additional question on >"w7:
- APRYTIR INY ) I DINPIN XD 12 SN 799 5TND NN MO NIN 9INPT 1)

And additionally when 5x2w states, but by n119 he should be 211 (if he ate
them) because he sees them, but if as YX12% maintains that the 11277 %va is 21 for
damages to the 7w because the 7 is not aware of the 913, so too the MV is not

aware of the N1, and if he trips on the n17°8, the M°77 Hv2 is 21, therefore the M7 are a
9"772 7970 and the rule of "1 TP 95 applies, so the MW Hva should be 7w for eating the
mo!?

mooIn offers his interpretation:
= 290 1INV 912 920 297 YYD PN 139390 NN

And the %''9 prefers to explain it in this manner that 29 maintains that =12

N2 is 2977 -
= %P3 AN N33 NN 157 90N 81 XY NV 12 79 1912 1PPaN KDY MY 9*panvat

For when he is 2°p2» his domain and was not =°pp» his pit and an ox fell into
the 712, the owner of the 712 cannot exempt himself from paying by saying to the

Wi %y, ‘what is your ox doing in my 212’ -
= ©Y9NN NIV 092 NDY D290 NIV 921¥WI 79 Y5 D8NEY 5199 DTN PNT

" Our mwn differentiates between 7am7 TN (where n°3mw m» obwn) and 7207 *78 (where Tp°Taw an nnbwn). We
have previously stated that 72777 7307 is discussing a situation where he did not place it there m2wi?; obviously this
applies to 72r17 7¥ as well (for we are distinguishing between the two) and the same applies to 21pn Axpn.
¥ On the '3 7my. The X3 refutes this suggestion that Xw 27 argue whether YMwa2 M2 is 270, for YXMW can
maintain that 1012 M2 is 21 and nevertheless if the n72 ate the Md of 0pn A¥P» he is 2, for it is different
from 2. By 112 he is 211 since the 7w H¥2 can claim 707X X2, but not by N0 (as Moo continues).
? See ©"wAn. See (TXT) X"wAmn for a different explanation *"yp21 n"172 W" Y.

3

TosfosInEnglish.com



277 A"7 'O R,R0 P2 .70

Because a person cannot be that exact that when he walks in the 2''79 he

should not accidentally enter the domain of others who are immediately adjacent to
the °"77 -
= D290 MWD UNN 192 29D D NN KD 19290

So therefore the 11277 5v2 should not have placed his 912 immediately adjacent

to the 2''119; this is the reason why 1712 P57 K91 1MW °porT is 277 -
- 95390 MWYAY YNRN 1M 2995 19 1% XY 190D 333 XM

And here too by 1mwan nxpn the nn7a7 %y is also 7w (for eating the mM7°o) for
the M7°977 H¥2 should not have placed his n19°> immediately adjacent to the

9'"'519, just as the M7 5v2 should not place his 1"777% 7m0 M2 -
- 1Sy DAY PHID DN MY 233 PRY

Since the 2''719 %12 cannot be that precise and prevent their animals from entering his

nwA where his M7’ are lying. Mmoo continues to explain the X773 according to 2XAW -
= 91097 PN D290 MYAIY TIND 1PMI9 3995 10 NPN RHY DIVNT 29NN HNNIWY)Y

And ®Xm»w maintains that if he ate the N17°0 by MW N Axpn the manan Hva is 29,
because the argument that the n7°577 %v2 should not have placed his 115 close

to the 2''7711 is not sufficiently strong to exempt the 72727 v2 from paying -
- T0Y Y15 9130 H¥a 0N TN0Y MION Hya NY

Since the n11°577 Hw2 has the legal right to place his N7 as close to the 1"777 as he

desires, and similarly the 21277 ¥2 can also place his 112 close to the 2''79 (and
still be mvy) since the MW had no right to enter into his domain where the 712 was.

mdoIN continues explaining how the X1 ultimately rejected the comparison between 1Mwa2 72
and Dpn nXPn:
= 993 AN N2 NN 19T 99N NPINN 337 5N 11PT 9INR NINI 39 909 NIYYAT NN

And the X3 rejected the comparison, for generally 29 maintains that 101272 72
1s MW (because he has the right to place his 712 anywhere in his nw"), but here by
P 17%Pn the Wi Hva says to the M7 on (M127) va, granted that if my ox was
damaged by your (m7°9) M3, you (the ™27 9¥2) can rightfully say to the " wn Hva,

what is your ox doing in my pit (and therefore the 1377 v2 is 71w9), but -
- Boyaam MW M3aY NAYDAT INHA Y 321505 19393 Y3 INY 0PN Yo

' 9010 maintains that the Mwd by M0 71gp» has nothing to do with a 1”772 79PN (as "W maintains), but rather that
the M o7 %¥1 is equally guilty, by placing his m7° in a place where it will inevitably be eaten by the animals who
are walking (with permission) adjacent to it.

' The argument of the M5 M277 Y3 that they have the right to place their M9 Ma wherever they want in their
mwn is sufficiently strong enough to exempt them from paying for any damage the N1 712 cause others who
entered their mwA; however it is not sufficiently strong to obligate the others who damaged his Mo, since the Hva
m7071 shares in the responsibility of the damage by placing it in a place where inevitably it will be damaged. [In the
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Nevertheless this argument of the (71277) N0 9v2 is not sufficient to obligate

me to pay for what my 772 ate since you placed your n17%2 close to the 2''779 -
- 25 H93Ys NINYIN IND NIJYAT *N) 920 INNYY

And Y2 maintains (even though 1Mwn2 2 is 20, nevertheless by opn n¥pn
he is 217) for granted that generally the ox was not aware when it fell into the

pit (therefore the full responsibility is on the M27 9¥3), however -
:1n99x Pnanaaw nnna 9091y a0 1905 8 XY X9

Here by m7°0 7xpn the owner of the animal cannot claim this (that his animal was
not aware that she was eating) in order to exempt him from paying what his 572
ate, since she ate it deliberately!

SUMMARY

According to >"w1 the connection between 1MWI2 M2 to MD 7¥pn is that if 712
21 1M1 the MW had the right to eat the M7 since it is a 1"772 79PN, but if it is
7100 he had no right to eat them and he is 27m.

According to Mmoo if 21 1NWI2 M2 this means he had no right to place his 712
that close, therefore the M Wwn Hva is Mwd for eating M7°d since he had no right to
place his m17°9 that close to the 2"77. If \mwn2 M2 is Mwd then both the Man Sva and
m°571 %¥2 have a right to place their M7’ wherever they choose in their mwA.

The conclusion is that even if 1MWw"2 72 is MWD nevertheless 7XPn can also be MW,
since they both share in the responsibility. Similarly even if 1mwa2 712 is 271 that is
only because the M was not aware of falling into the 713, but he will be 211 by
DIPn 1XpPn since he ate it 7INM02.

THINKING IT OVER

Mmoo writes that the reason XMW maintains that by Y wan 7%pn he is 21 for
ma°9 n9°OR (even if we maintain W12 M2 is 2°n) is because he ate the M
7132, How can we reconcile this with our X3 which states that he is 2> for the
M0 since 7°% *11 &7 (but not because 73 1NoR) 2!

case where 1"7771% 10 they both share the responsibility; therefore the p>ma (whether it is the 277 Hv2 or the Wi Hv2)
is always Mo because he can claim that the pri1 (whether it is the MW %¥a or the M0 Hv3) shares in the
responsibility.]
"2 We maintain 2”1 \m@12 M2 because the animal fell into the M2 inadvertently; however by 7¥pn the animal ate
deliberately.
" See “Thinking it over’.
1 See footnote # 13.
15 See Tmbni *wAon XK (1"7Y) # 93
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